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� 9
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�� �������� EFGH?

� ∆EIF � ∆EIH ���
��

� ∆GHI � ∆GHF ���
��

� ∆EFH � ∆EGH ���
��

� ∆EIF � ∆GIH ���
��
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H G
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4 1

5 3

6 6

7 2

8 4

9 3

10 1
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� 0,085 �

� 0,805 �

� 0,85 �

� 8,5 �

� ��� ��� ��� ��� ��	 ��
 ��� ��� ��� ���
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 PQ � RS.
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������ x + y ?

� 15

� 30

� 60

� 180

� 300

S

QR

x° y°

P
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, �� n =

� 3

� 7
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� 30
14

� 16
14

� 14
16

� 30
16

� 16
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�� x = –3 ?
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� 12%

�     3%

�     0,3%

�     0,12%
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� 3 + n

� 3 · n

� 3 – n

� 3 : n
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��� ABCD.

�����������
��� GHIJ ��
����
���
��������������
��� ABCD����

�
��	�
��
�����
���������������������������� G � J ���
��70°. ��	�

��� ��
�� !�"����
���
�������
�������#�� �
����$

� GH = AB

� %����H ����
�����������

� &�
�������� GHIJ ��
 �������������
�������

� '
���
�� GHIJ ��(������
��#)
��
���
��� ABCD.

� '��!��# GHIJ �
�#)
����!��� ABCD.

B

A
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C

D

���



�
�
�
�
�
�
�

����������	�
���
������
���
�����
�������������������������
��
�


������� ��������

� 1 
 2

� 2 
 
2
5

� 2
5

 
 
4

11

� 4
11

 
 3



�
�
�
�
�
�
�

��������	��	
��
������������
��	�	���	��������������	��

�	�
�	�� �����	��������������
������������������
����� ��
�

�����
�������� ���!

� 30

� 33

� 36

� 39

� 42
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� 3x + 6

� 3x + 8

� 4x + 6

� 5x + 6

� 8x + 2
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3 xx

� 7
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� 3

� 2x

� 7
x

� 7
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� $	%�������	
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� 8400

� 35 000

� 84 000

� 350 000

� 3 500 000
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�����L = 4 ����K = 6 � M = 24,��	�
�
	���
�������������������

��������� �������

� L = 
K
M

� L = 
M
K

� L = KM

� L = K + M

� L = M − K
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� 0,233;  0,3;  0,32;  0,332

� 0,3;  0,32;  0,332;  0,233

� 0,32;  0,233;  0,332;  0,3

� 0,332;  0,32;  0,3;  0,233
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4

10
3
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� 51
3

� 6
1

� 25
6
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� 25
17
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������	������ ∠POR = 110°, ∠QOS = 90°�	

∠POS = 140°.

���
������	
	������� ∠QOR?

������ _______________

S

R

Q

P
O
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 ������	��	��!����������
���������	�������������������	���, ����
��������!���� ��������	������"

�  8.00

�  8.30

�  9.00

� 10.00

� 11.00

8.00 8.30 9.00 9.30 10.00 10.30 11.00 11.30 12.00 12.30
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5,5

5,0

4,5

4,0

3,5

3,0

2,5

2,0

1,5

1,0

0,5

0
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�

BC = EF.

��	�����
����������� EGC ?

� 20°

� 40°

� 60°

� 80°

� 100°

B FE C

G

��� ���

A D
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� 5
1

� 3
1

� 2
1

� 3
2
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��������������������"

� 3726

� 4726

� 8082

� 8182

� 8192

� � � �
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(3, 6) , (6, 15) , (8, 21)
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�  ��!������"

� #��
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� $%����������&

� $%����������&������
%����!������3

� $%����������"������
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� 3

� 8

� 37
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� �������������������
���	

���
�!����������� "��������
�#

� 4%

� 5%

� 20%

� 25%
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�����
�	�� 180°?

� ∠5 � ∠7

� ∠3 � ∠6

� ∠1 � ∠5

� ∠1 � ∠7

� ∠2 � ∠8

P

R

Q

S

� �

� �

� �
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� 100

� 80

� 78,2

� 78,24

� 78,244
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���� 4(x + 5) = 80, �� x =

���	�
 _______________
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 PQRS �
��


�
����	�� ����
��
����� UVST.

�
������
�
��	
��������
�����
	�� �	
	��
�
�
	�

� P

� R

� S

� T

� V

P

VU

T S R

Q
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����������������
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�����������
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�� k + (k + 2) + (k + 4) = 84.
��
�
�
������ ���� k?

� !����
�"���������	����
�	������

� ����
��� ���

�� ����


� !�� 
��"���������	����
�	������

� ����
������#��������
�� ���	����
�	������
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5
4

 �������������� 
3
2

�����	
���������	��
��
��������� ��������������� ��
�����	��

���������������	
���!

� 2

� 3

� 6

� 30

� 36
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� 16

� 160

� 1600

� 16 000
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�
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������ ______________________________
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� 100 �2

� 161 �2

� 710 �2

� 1610 �2
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� (0; 2)

� (1; 2)

� (2; 4)

� (3; 5)

� (4; 5)



�
�
�
�
�
�
�

��������	
����
���
������
�	�������
�
������������
	����������

���	����������
�	��������������������
��������������
��������������

�����
��� �
	���
�

8
1

 �
	����������
�
, 
24
1

 ����
����
, 
2
1

 �����
��
�� 
3
1
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�   640 ���	
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� 3
2−= y

x

� 3
2+= y

x
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3
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 − 2
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� 7,2

� 8,0

� 8,4

� 9,6
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�   50 ��
2

�   60 ��
2

� 100 ��
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� 200 ��
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P Q

A

D

B
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� P

� Q

� R

� S

y

x

P Q

S R

O
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� 450

� 500

� 540

� 600
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� 11

� 8

� −8

� −9
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� 6

�  1

�  −1

�  −7
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� 30º

� 45º

� 60º

� 75º

P Q

R
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� 20 + 20

� 20 + 80

� 120 + 20
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� 370 ⋅ 1000

� 372 ⋅ 998

� 740 ⋅ 998

� 370 ⋅ 998 ⋅ 2
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� 5000

� 10 000

� 15 000

� 20 000
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�   0,10

�   9,99

� 10,10

� 10,90
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� 5:3

� 8:5

� 5:8

� 3:5
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� 5x + 2y

� 5x + 8y

� 9x + 2y

� 9x + 8y
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���� x + 3y = 11 � 2x + 3y = 13, �� y =

� 3
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� −3



�
�
�
�
�
�
�

����������	�
���
���������	���	���
�������	�����
������

� 2 ��

� 3 �

� 5 ��
2

� 8 �3




































